RIGOUR

W MNU 2-04a Homework 5
Outcome 1 Outcome 2
Adding Negatives Subtracting Negatives
& -H+1l & -1+8 Py 3-5 & 4 -13
= -3+5H & -4 + 13 w 2-9 & 6 -11
p=1 -4 + 8 [ -8+ 3 F=1 1-6 8 -2 -2
& -6 +5 8 -7+4 4 -3-3 8 0-10
8 -6+1 g -9+2 8 -5-6 »8 -4 - 15
Outcome 3 Outcome 4
Multiplying Negatives Dividing Negatives
L 4x(-7) é 9 x (-1) & 28+(-4) & 12+(-3)
= -bx?2 & 6 x (-6) « -90+10 & 20+ (-2)
5 8x(-H) 8 -3 x12 & 63+(9) & -48-:4
& -7xb 8 8 x (-10) % 30=+(-6) 8 10+ (-H)
8 10x(-6) &8 7x(-3) 8 6+3 L8 -54-+9
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